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(b) - Using Stoke's theorem or otherwise, evaluate : [71 } QHESﬁOH Paper C ode . 662 2
DR D
”:(2x- y)dx —yz'dy -y zdz] i BCA (Semester-I) Examination, 2021
5 :
where c is the circle x? +y? =1, corresponding MATHEMATICS -1
to the surface of sphere of unit radius. [ Paper : BCA-103 ]
9. Find the eigenvalues and the corresponding eigenvectors Time : Three Hours] * [Maximum Marks : 70
of the matrix : [14]
; Note : Answer any five questions. Each question carries equal
B sy marks.
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,,»' 4.9 2 1. (a) Find by elementary row transformation the
4 - inverse of the matrix : (71
10. (@) . .Using Betaand Gamma function, evaluate [7]
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: : (b) Find the rank of the matrix : [7]
(b) Uée Divergence theorem to evaluate ”ﬁ'dé
s F e R
2 5 . o ; 2
where F = 4xj-2y?j+z% and S is the surface 1 : i ;
_bounding the region x2 +y2 =4, z =0 and z = 3.
: [7] 2. (a) Discuss the consistency of the following system
of equations : [7]
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